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Note : There are three sections A, B and C in the paper.

(ii) QT T g7 T 1 3 T 10 T % IR G | I9F 97T T 37 HI 8 0
41 10 977 TGI8 IR & T F 8 |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) ST @ F 8 FoAI 7 8 foeg] 6 Fel @ IR T | T F9T 3 31 I 8 T
39T 5 S75/50 rsg] 3T} Gorg |

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) BT 6 T 7 8 gl 4 3l & IR T | IF T97 8 % BT € T
577 15 157/150 ¥1s51 4 3T g |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

(v) % QFT 3 G 59 1 FHHGR TF @1 5 FHHord |

Solve all the questions of a section consecutively together.

(vi) @ T & iR &R @ IRl A S srgare & A 8

Only English version is valid in case of difference in both the languages.

JR/A - T
SECTION - A
1. () T S i oy 9199 H TEH W -
(2) ST T Tl B | (b) .. S T HH TRRIY B2 |
(c) SIIoHH Td F&d 2 | (d) Y HR TG
When p-n junction is reverse biased
(a) Depletion layer decreases (b) It offers low resistance.
Mk  (c) Depletion layer increases (d) None of the above

(1ofd) P.T.O.
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(2 of 4)
ST % forg i Sees 1 e BT 2
(a 0.1V (b) 03V
(© 07V (d 14V
- Knee voltage for Germanium is
(a 0.1V (b) 03V
() 07V d 14V
31 q fewenrt ) qeqar Byt 2
(a) 25% (b) 40.6%
(c) 90% (d) TIPS T
Efficiency of half wave rectifier is
@A 25% (b) 40.6%
() 90% (d) None of these
901 G fegentt # fepa sRig B & ¢
(@ 2 (®) 3
(c 4 (d) 3T EHE T
How many diodes are used in full wave rectifier ?
@ 2 (b) 3
(¢ 4 (d) None of these
foreht it 3 9 o, Sl s BT e B
(@ 25% (b) 20%
(©) 35% (d) 50%
In a transistor, the base current is about of emitter current.
@ 25% (b) 20%
©) 35% (d) 50%
TR ¥ SROTTeH Glsseh % S0 =1 8 8 7
(a) T TEATR | (b) TS T TR |
(© deimEnam | @) AP
Negative feedback in an amplifier leads to which one of the following ?
(@) Increase in current gain. (b) Increase in voltage gain.
(c) Decrease in voltage gain. (d) None of these
S99 @ B 91 U FET H ™uadi @ 7

(vii)

(2) TEh i e = AR 1(b) 35 T TR SR AN R |
€) THRFRFHSHAFATNR | (d) I8 H1S TRAY T8 Jem w2 |

Which of the following statement is true about FET ?

(a) It has high output Impedance. (b) It has high input Impedance.

(¢) It has low input Impedance. (d) It does not offer any resistance.
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(viii) BTES FTEEIE T T AT FHal i 8 ?
(a) e sAfdieie (b) A gEHi
(c) dr.t ffea (d) T B AR
Hartley Oscillators are mostly used in
(a) Radio Oscillator (b) Radio Transmitter
(¢) T.V.Receiver (d) None of these

(ix) T arfeicre 3 @ ot an e fopaciet Tiioiet o Jrid el S 7

x)

() E. T vfiwe arefeiet (b) o9 s aAfeieiet
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(c) faa 3t st (d) s e

Which of the oscillators doesn’t come under the category of low frequency oscillator ?
(a) RC phase shift oscillator (b) Wein bridge oscillator

(¢) Twin T oscillator (d) Colpitts oscillator

Hrethe w1 372 BT @ -

(a) ree iteaTss TAFEM THSS  (b) e SfierTge Tk TR
() el siuTEs TSI THEA (d) TS 3T ThE Thsd]
The MOSFET stands for

(a) Metal Oxide Selenium FET

(b) Metal Oxide Surface FET

(c) Metal Oxide Semi-conductor FET

(d) Metal Of Surface FET

YE -
SECTION - B

2. mﬁm,wwmm@ﬁaaﬁmmmﬁm%?

Why does a pure semiconductor behave like an insulator at absolute zero

temperature ?

3. i e Sl ol aHTSY |

Define peak inverse voltage.

4. AR ESHEE F V-1 AT GHATST |

Explain V-I characteristics of Zener diode.

(1x10)

©))

Q)

(€)
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5.

10.

11.

12.

13.

14.

15.

STEUIeR ZIE H I |1 A9 et 8iam 2 3R 1 1 5 vaen 8rar S 7 74t 7

In a bipolar transistor which region is wider & which region is thinner ? Why ?

T3St 1 Aeest AT Tearss w=it e AT S 7

Why FET is called as voltage operated device ?

F X FTEar g ?

What is an oscillator ?

HISeh THfIhRR &1 BT R 7

What is feedback amplifier ?

forea aTiEfieiet o oy srameu |

List the advantages of crystal oscillator.

A~

SECTION -C

wmﬁwmﬁawﬁm@ml

Explain working principle of zener diode with the help of its characteristics.

ZITNTE Ueh TP TRTeR 361 v 358 el o & ? ULy |

Explain the operation of transistor as an amplifier.

AEHE & [V FARTeE gues |
Explain I-V characteristics of MOSFET.

Wﬁ&@éﬂﬁmﬁaaﬁm@ml

Explain working of crystal oscillator with diagram.

ﬁﬁﬁaw%ﬁg&maﬁﬁaﬁmﬁm@|

Explain negative current series feedback with diagram.

ferfirr varites W s 1 o wvTE BT & 7 qwemsw |

Explain the effect of feedback on different parameters.
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